TIENG ANH 8-ON TAP-TEST 4 (HE 7 NAM)

TEST 4

I. Choose the word that has the underlined part pronounced differently from the
others.

1.a.government b. over c. problem d. permanently
2. a. not b. problem c. hospital  d. government
3. a. unpleasant b. supply c. struggle d. lucky

4. a. drought b. ought c. brought d. thought

5. a. result b. destroy c. simple d. this

I1. Choose the word or phrase that best completes each unfinished sentence below or
substitutes for the underlined word or phrase.

6. ‘We don’t have any biscuits.” ‘Yeah, I know. I some tomorrow morning. [’ve got
them on my list.’

a. got b. gets C. am getting d. get

7. The film was than the book.

a. more exciting b. more excited

c. the most exciting d. the most excited

8. He grows flowers as well as vegetables.

a. and vegetables too b. as long as vegetables

C. as good as vegetables d. not only vegetables

9.1t dark. Shall I turn on the light?

a. gets b. will get c. is getting d. is going to get
10. I found it a strain making conversation with him.

a. great pressure  b. great pleasure c. great trouble d. great event
11. The earth warmer.

a. is getting slowly b. is slowly getting

c. slowly gets d. gets slowly

12. You are person | know.

a. the lucky b. the luckier c. the luckiest d. the most lucky
13. He has tried very hard to find a job, until now without

a. result b. end c. conclusion d. affect

14. 1t late . _ | have to go.

a. get b. will get C. is getting d. is going to get
15. He went to school late because he was stuck in the this morning.

a. rush hour b. traffic light c. traffic jam d. crossroads
I11. Choose the words or phrases that are not correct in Standard English.
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16. She thinks Dan is enjoying living away from home when he goes to

A B C
University.
D
17. People are becoming increasingly anger about the delay.
A B C D
18. All the car parks were full, so we had to look at somewhere to park.
A B C D
19. Even today, most Americans prefer coffee than tea.
A B C D
20. The governments tried providing facilities for these migrants.
A B C D

IV. Choose the word (a, b, ¢, or d) that best fits each of the blank spaces.

Mexico’s cities are modern (21) have traditional Indian and Span-
ish influences. The (22) buildings are around a central square, which also serves as
a place to meet with friends. There are (23) market places, where people can find
almost anything they need. (24) Sundays, parks are a (25) place for family outings.
Many people move to Mexico City from (26) areas. It has (27) excitement, but
also lots of traffic and the (28) :

influence (n) : sy anh hudng outing (n) : cudc di choi

21. a. although b. because c. and d. but

22. a. important b. more important  ¢. importanter d. most important

23. a. outdoor b. outside Cc. away d. beside

24.a.In b. At c.On d. When

25. a. famous b. popular c. plentiful d. well-paying

26. a. rural b. urban c. suburb d. all are correct

27. a. alot of b. many C. very d. much

28. a. Supplies b. population C. problem d. pollution

V. Read the following passage and choose the item (a, b, ¢, or d) that best answers each
of the questions about it.

Living in a big city today is very different from living in a small town long ago. Today if
you want to go to the city center, it takes you a long time by bus or by car. If you ride a
motorbike, you breathe all the exhaust fumes and feel sick. However, if you become ill, there
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are hospitals close by. Also if you like music and dancing, the discos and pubs offer a wide
variety.

Long ago life was different. If people traveled, they used horses and carts. If they went a
long distance, the journey took days, not hours. If they were ill, they didn’t go to the
hospital, there were none. If there is a wedding or holiday, they sang and danced.

exhaust fumes (n) : khoi thai horse and cart (n) : xe ngua

29. The life in a big city today is different from the life in a small town long ago.
a. slightly b. hardly C. very d. b & c are correct

30. How did people travel?

a. By bus or by car. b. By motorbike.

c. By horse and cart. d. By airplane

31. The word ‘they’ in line 7 refers to :

a. cities b. horses and carts

c. modern people d. people in the past

32. We can replace the word ‘ill” in line 9 by the word :

a. ‘sick’ b. ‘bad’ c. “wrong” d. “painful”

33. Which of the following is not true?

a. There weren’t any hospitals in the past.

b. There weren’t any discos and pubs in the past.

c. In the past, the long journey could take days, not hours.
d. It’s very convenient to travel in the past.

THE END
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